AMORTSCHe    (by Joe Erdeky, erdeky@inbox.com)

.

This Program makes an AMORTIZATION SCHEDULE after finding the Payment necessary to reduce a loan to 0 given the Loan Amount P, Interest Rate r, Frequency of Payment m, and the Term of the loan t. Also found is the total interest I and the total payments TP.

Because of a disability, ALS, I did not update the TI 84 screens below. 

However, the TI 84 C screens will be similar.
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For P, use the balance (Bal) from the last screen on the 1 page.
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Tip: Aiways use 3: Clear lists as the last step. This will remove the schedule from the
calculator and retun the lists to the normal L1, L2, etc.




That is, after (STAT 1) to look at the schedule, press 2ND QUIT ENTER and do step 3: to return the lists to normal.
When doing a 30 year loan paid monthly, first use 1: NOT KNOWN to get the payment R and use 2: KNOWN with k=120 and run the program 3 times to get the 360 rows of the schedule. Just use each new Bal as the value for P in the next run. 

Remark: The final balance of a loan schedule may not be 0 due to rounding of the payment. For a 360 payment loan the balance may be off by several dollars.
------------------------------------------------------------------------------------------------------------

Other programs by this author are at 

http://www.ticalc.org/archives/files/authors/109/10933.html
------------------------------------------------------------------------------------------------------------






